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QUESTION 1

Why would an application developer apply a numeric attribute to an element?
A. To store a numeric code for the color of a product.

B. To display the account number instead of the account name.

C. To display the values in an alternate format.

D. To store the square footage of a store for capacity planning.

Correct Answer: D

QUESTION 2

An application developer needs to update dimensions and then load data into a cube during off hours. Which of the
following options can be used for this?

A. Chores

B. Rules

C. Conversion
D. Worksheets

Correct Answer: A

QUESTION 3

In order to calculate Revenue in the Sales cube, the application developer uses the Unit Price from the Pricing cube to
multiply it by Units sold, also in the Sales cube.

Where should the most efficient rule and feeder reside?
A. Rule and feeder in Sales.

B. Rule and feeder in Pricing.

C. Rule in Sales, feeder in Pricing.

D. Rule in Pricing, feeder in Sales.

Correct Answer: A

QUESTION 4

Why would a developer create a consolidated element?
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A. To display comments in a cube.

B. To apply alternate names to an element.
C. To store numeric data.

D. To calculate an aggregation.

Correct Answer: D

QUESTION 5

Why must an application developer publish a report or template in an application folder?
A. To update the reference on the TM1 server.

B. To move the reference to the TM1 server.

C. To make the reference available on TM1 web.

D. To move the reference to a common location.

Correct Answer: C
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